<?xml version="1.0" encoding="UTF-8"?>
<OrderChangeRQ Version="17.2" xmlns="http://www.iata.org/IATA/EDIST/2017.2"
EchoToken="$ZH | 7= 4=">
<Document/>
<Party>
<Sender>
<CorporateSender>
<Name>Fg i 73 Fid</Name>
<ID>Fd i 73 Bic</1D>
<IATA_Number>00001704</IATA_Number>
</CorporateSender>
</Sender>
</Party>
<Query>
<OrderID Owner="CZ">B1902250000028</OrderID>
<OrderServicing>
<AcceptOffer>
<Offer OfferID="offer-1" Owner="CZ" ResponselD="0">
<Offerltem OfferltemID="offerltem-1-Sg1">
<PassengerRefs>Pax1</PassengerRefs>
</Offerltem>
</Offer>
</AcceptOffer>
<Delete>
<OrderltemID>Sg-old-1</OrderltemID>
</Delete>
</OrderServicing>
</Query>
<Datalists>
<PassengerlList>
<Passenger PassengerID="Pax1">
<PTC>ADT</PTC>
<Individual>
<Surname>ZHANG/FAN</Surname>
</Individual>
</Passenger>
</PassengerList>
<FlightSegmentList>
<FlightSegment SegmentKey="Sg-old-1">
<Departure>
<AirportCode>CAN</AirportCode>
<Date>2019-05-21</Date>
<Time>08:00</Time>
</Departure>



<Arrival>
<AirportCode>PEK</AirportCode>
<Date>2019-05-21</Date>
<Time>11:10</Time>
</Arrival>
<MarketingCarrier>
<AirlinelD>CZ</AirlinelD>
<FlightNumber>3101</FlightNumber>
</MarketingCarrier>
<ClassOfService>
<Code>Y</Code>
</ClassOfService>
</FlightSegment>
<FlightSegment SegmentKey="Sg1">
<Departure>
<AirportCode>CAN</AirportCode>
<Date>2019-05-25</Date>
<Time>08:00</Time>
</Departure>
<Arrival>
<AirportCode>PEK</AirportCode>
<Date>2019-05-25</Date>
<Time>11:10</Time>
</Arrival>
<MarketingCarrier>
<AirlinelD>CZ</AirlinelD>
<FlightNumber>3101</FlightNumber>
</MarketingCarrier>
<ClassOfService>
<Code>F</Code>
</ClassOfService>
</FlightSegment>
</FlightSegmentList>
</Datalists>
</OrderChangeRQ>

<OrderViewRS Version="17.2" xmlIns="http://www.iata.org/IATA/EDIST/2017.2">

<Document/>
<Success/>
<Response>
<Order OrderID="S1903070000018" Owner="CZ">
<BookingReferences>

<BookingReference>



<ID>MJK00C</ID>
<OtherID>1E</OtherID>
</BookingReference>
</BookingReferences>
<Status>
<StatusCode>U</StatusCode>
</Status>
<Orderltems>
<Orderltem OrderltemID="orderltem-new-seg1">
<PriceDetail>
<BaseAmount Code="CNY">3580</BaseAmount>
<Surcharges>
<Surcharge>
<Total>2150</Total>
</Surcharge>
</Surcharges>
</PriceDetail>
<Service ServiceD="orderltem-new-seglserviceID-0">
<PassengerRef>p1</PassengerRef>
<SegmentRef>new-segl</SegmentRef>
</Service>
</Orderltem>
<Orderltem OrderltemID="orderItem-old-seg1">
<PriceDetail>
<BaseAmount Code="CNY">1430</BaseAmount>
</PriceDetail>
<Service ServiceD="orderltem-old-seglserviceID-0">
<PassengerRef>p1</PassengerRef>
<SegmentRef>old-segl</SegmentRef>
</Service>
</Orderltem>
</Orderltems>
</Order>
<DataLists>
<PassengerList>
<Passenger PassengerID="p1">
<PTC>ADT</PTC>
<IdentityDocument>
<IdentityDocumentNumber/>
<IdentityDocumentType/>
<Surname>7K —</Surname>
</IdentityDocument>
</Passenger>
</PassengerList>

—_n

—_n



<FlightSegmentList>
<FlightSegment SegmentKey="new-segl">
<Departure>
<AirportCode>CAN</AirportCode>
<Date>2019-03-21</Date>
</Departure>
<Arrival>
<AirportCode>CTU</AirportCode>
</Arrival>
<MarketingCarrier>
<AirlineID>CZ</AirlineID>
<FlightNumber>8647</FlightNumber>
</MarketingCarrier>
<ClassOfService>
<Code>J</Code>
</ClassOfService>
</FlightSegment>
<FlightSegment SegmentKey="old-segl">
<Departure>
<AirportCode>CAN</AirportCode>
<Date>2019-04-04</Date>
</Departure>
<Arrival>
<AirportCode>CTU</AirportCode>
</Arrival>
<MarketingCarrier>
<AirlineID>CZ</AirlineID>
<FlightNumber>8647</FlightNumber>
</MarketingCarrier>
<ClassOfService>
<Code>W</Code>
</ClassOfService>
</FlightSegment>
</FlightSegmentList>
</DataLists>
</Response>
</OrderViewRS>

<?xml version="1.0" encoding="UTF-8"?>

<OrderRetrieveRQ Version="17.2" xmlns="http://www.iata.org/IATA/EDIST/2017.2"
xmlins:xsi="http://www.w3.0rg/2001/XMLSchema-instance"
xsi:schemalocation="http://www.iata.org/IATA/EDIST/2017.2 ../17_2%20schemas_E
DIST/OrderRetrieveRQ.xsd" Target="Production">



<Document/>
<Party>
<Sender>
<CorporateSender>
<Name>Fg i 73 Fid</Name>
<ID>FE A4 Bit</ID>
<IATA_Number>00001704</IATA_Number>
</CorporateSender>
</Sender>
</Party>
<Query>
<Filters>
<OrderID Owner="CZ">51801010000001</OrderID>
</Filters>
</Query>
</OrderRetrieveRQ>

<OrderViewRS Version="17.2" xmlIns="http://www.iata.org/IATA/EDIST/2017.2">
<Document/>
<Success/>
<Response>
<Order OrderID="S1903070000018" Owner="CZ">
<BookingReferences>
<BookingReference>
<ID>MIJK00C</ID>
<OtherID>1E</OtherID>
</BookingReference>
</BookingReferences>
<Status>
<StatusCode>U</StatusCode>
</Status>
<Orderltems>
<Orderltem OrderltemID="orderltem-new-seg1">
<PriceDetail>
<BaseAmount Code="CNY">3580</BaseAmount>
<Surcharges>
<Surcharge>
<Total>2150</Total>
</Surcharge>
</Surcharges>
</PriceDetail>
<Service ServicelD

—_n

orderltem-new-seglservicelD-0">



<PassengerRef>p1</PassengerRef>
<SegmentRef>new-segl</SegmentRef>
</Service>
</Orderltem>
<Orderltem OrderltemID="orderItem-old-seg1">
<PriceDetail>
<BaseAmount Code="CNY">1430</BaseAmount>
</PriceDetail>
<Service ServiceD="orderltem-old-seglserviceID-0">
<PassengerRef>p1</PassengerRef>
<SegmentRef>old-segl</SegmentRef>
</Service>
</Orderltem>
</Orderltems>
</Order>
<DataLists>
<PassengerList>
<Passenger PassengerID="p1">
<PTC>ADT</PTC>
<IdentityDocument>
<IdentityDocumentNumber/>
<IdentityDocumentType/>
<Surname>7K —</Surname>
</IdentityDocument>
</Passenger>
</PassengerList>
<FlightSegmentList>
<FlightSegment SegmentKey="new-segl">
<Departure>
<AirportCode>CAN</AirportCode>
<Date>2019-03-21</Date>
</Departure>
<Arrival>
<AirportCode>CTU</AirportCode>
</Arrival>
<MarketingCarrier>
<AirlineID>CZ</AirlineID>
<FlightNumber>8647</FlightNumber>
</MarketingCarrier>
<ClassOfService>
<Code>J</Code>
</ClassOfService>
</FlightSegment>
<FlightSegment SegmentKey="old-segl">

—_n



<Departure>
<AirportCode>CAN</AirportCode>
<Date>2019-04-04</Date>
</Departure>
<Arrival>
<AirportCode>CTU</AirportCode>
</Arrival>
<MarketingCarrier>
<AirlineID>CZ</AirlineID>
<FlightNumber>8647</FlightNumber>
</MarketingCarrier>
<ClassOfService>
<Code>W</Code>
</ClassOfService>
</FlightSegment>
</FlightSegmentList>
</DataLists>
</Response>
</OrderViewRS>

<?xml version="1.0"?>
<AirDoclssueRQ EchoToken="4% | 7= 4" Version="17.2"
xmlins="http://www.iata.org/IATA/EDIST/2017.2">
<Document>
<l RAAAFZAS, “4”7 REBEHLLA,) >
<Name>4</Name>
</Document>
<Party>
<Sender>
<l-- fCFREE44 . ID. IATA_Number 5 5 -->
<CorporateSender>
<Name>Fg i 73 Fid</Name>
<ID>FE A4 Bit</ID>
<IATA_Number>00001704</IATA_Number>
</CorporateSender>
</Sender>
</Party>
<Query>
<TicketDocQuantity>0</TicketDocQuantity>
<TicketDoclInfo>
<PassengerReference>passenger</PassengerReference>
<OrderReference>

<I- AHHEG >



<OrderID Owner="CZ"
OwnerType="0ORA">51901180000005</OrderID>
</OrderReference>
<Payments>
<Payment>
<Type>CA</Type>
<Method>
<Other>
<Remarks>
<l-- AWK -->
<Remark>135</Remark>
</Remarks>
</Other>
</Method>
<Amount>0</Amount>
<I- AHEHG >
<Order OrderID="S1901180000005" Owner="CZ"
OwnerType="ORA"/>
</Payment>
</Payments>
</TicketDocInfo>
<Datalists>
<PassengerlList>
<Passenger PassengerID="passenger"/>
</PassengerList>
</Datalists>
</Query>
</AirDoclssueRQ>

<?xml version="1.0" encoding="UTF-8"?>
<OrderViewRS Version="1.7" xmIns="http://www.iata.org/IATA/EDIST/2017.2">
<Document/>
<Success/>
<Response>
<l- BWHEPS >
<Order OrderlD="51808200000126" Owner="CZ">
<Orderltems>
<Orderltem OrderltemID="orderltemID-1">
<PriceDetail>
<BaseAmount>0</BaseAmount>
</PriceDetail>
<Service ServicelD="service">
<PassengerRef>passenger</PassengerRef>



<l FAHRKS >

<ServiceDefinitionRef>YEE020160921892664</ServiceDefinitionRef>
</Service>
</Orderltem>
</Orderltems>
</Order>
<Datalists>
<PassengerlList>
<Passenger PassengerID="passenger"/>
</PassengerList>
<ServiceDefinitionList>
<l ATRKS >
<ServiceDefinition ServiceDefinitionID="YEE020160921892664">
<l AWK -->
<Name>134</Name>
<Descriptions>
<Description>
<l- AP AL >
<Text>XXXXX</Text>
</Description>
</Descriptions>
</ServiceDefinition>
</ServiceDefinitionList>
</Datalists>
</Response>
</OrderViewRS>

<?xml version="1.0" encoding="UTF-8"?>
<OrderChangeNotif Version="17.2" xmIns="http://www.iata.org/IATA/EDIST/2017.2"
EchoToken="333766712586592664681085744789556424475025996795">
<Document/>
<Party>
<Sender>
<l-- RIEWE4 . ID. IATA Number {55 >
<CorporateSender>
<Name>Fg it 73 Fi</Name>
<ID>F A4 Bit</ID>
<IATA_Number>00001704</IATA_Number>
</CorporateSender>
</Sender>
</Party>



<Query>
<I- AHEHT >
<Order Owner="CZ" OrderID="51901090000166">
<Status>
<l AZFE RS >
<StatusCode>E</StatusCode>
</Status>
<Orderltems>
<Orderltem OrderltemID="orderltemID-1">
<PriceDetail>
<BaseAmount>0</BaseAmount>
</PriceDetail>
<Service ServicelD="service">
<PassengerRef>passenger</PassengerRef>

<ServiceDefinitionRef>orderExchangeNotify</ServiceDefinitionRef>
</Service>
</Orderltem>
</Orderltems>
</Order>
</Query>
<Datalists>
<PassengerlList>
<Passenger PassengerID="passenger"/>
</PassengerList>
<ServiceDefinitionList>
<ServiceDefinition ServiceDefinitionID="orderExchangeNotify">
<Name>orderExchangeResult</Name>
<Descriptions>
<Description>
<l- BFHHREFEE >
<Text>AF 5 i Ih</Text>
</Description>
</Descriptions>
</ServiceDefinition>
</ServiceDefinitionList>
</Datalists>
</OrderChangeNotif>

<?xml version="1.0" encoding="UTF-8"?>
<Acknowledgement Version="" xmlns="http://www.iata.org/IATA/EDIST/2017.2"
xmlins:xsi="http://www.w3.0rg/2001/XMLSchema-instance"



xsi:schemalocation="http://www.iata.org/IATA/EDIST/2017.2
Acknowledgement.xsd">
<Document/>
<l-- ARFH BRI R >
<StatusCode>0OK</StatusCode>
</Acknowledgement>



